FERAT4ERE

o5 2 ﬂ’aiiiilzif'z A4 BHE)I
(H#ESH) | BB A
—#R1ER
XE [&fBCc)| KE(CC) | EIUKZE| KR =i BR
48] Bh 21.0 15.5 =B |ooEYEY me mR
6A] =Y 27.0 215 =IE BE me |mR
8A| Bh 34.0 28.5 == BE meE |
108 =Y 22.0 23.0 == BE me me
128] i 9.0 8.0 == BE |meE |
28 551 10.0 7.0 == BE BE |me
4 ERSIEE 3
oH DO BOD SS KEEHK
(mg/) (mg/1) (mg/l) | (MPN/100ml)
EEE| 65~85] 75LLF | 20LF | 25LF 1000LLF
EHE (75%1E) - 10 0.8(1.0) 2 2500
48] 77 10 1.0 2 -
6A| 79 9.0 0.7 4 460
8A|l 78 8.1 <05 <1 -
108 77 8.6 1.1 <1 4600
128 77 12 0.9 <1 -
28 15 12 0.7 1 —
BEEE
NI INEDS & £ ANEvALl WME fKER 7L ILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EE] 0.01LLF | JE#H | 0.01LLF | 0.05LLF [ 0.01LLF | 0.0005LLF
E{E]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 =
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8AH - - - - - - -
108]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
28] - - - - - - -
So00A e |1L,2-070]1,1-0500 Y R-1,2-2>50]1,1,1-FJ)70
PCB .y bR A E 3 axs | TFLY NTFLY RIS
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EfE] JERE [0.02L8LF | 0.002LLF [0.004LLF [ 0.02LLF 0.04LLF 1LUF
B3] - <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
48 - <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
6 H - <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
8Al - - - - - - -
10H - <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
12H - <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
24 - - - - - - -
1,1,2-+y4 [RUYBaA|Fr5400x(1,3->50A — . —sen FARAH
aoxsy [ TFLY | FLr  |aFaky FIOIL E R )%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
2 {E]0.006 LT 0.03LLF | 0.01LLF [0.002LLF[0.006LLF | 0.003LLF 0.02LLF
EfE[ <0.0006 [ <0.003 <0.001 <0.0002 [ <0.0006 <0.0003 <0.002
48] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6A] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8AH - - - - - - -
10H] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
128 <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
2A] - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAEE] 001LLTF 1001LLF| 10LLF 0.8LLF 1LLF
Eiy <0.001 <0.001 0.14 <0.1 <0.1
4H] <o0.001 <0.001 0.25 <0.1 <0.1
6A] <0.001 <0.001 0.10 <0.1 <0.1
8H - - - - -
10H] <0.001 <0.001 0.11 <0.1 <0.1
12H] <0.001 <0.001 0.08 <0.1 <0.1
2H - - - - -
EDHIEE
Nonmn| TEX | 2@ @ | eE@ |soofous [T
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - 0.18 0.025 - <0.005 - -
7y:] 0.28 0.018 - - - -
6A| - 0.21 0.022 - - - -
sA| - - - - <0.005 - -
108 - 0.12 0.038 - - - -
128 - 0.11 0.020 - - - -
2H - - - - - - -
BiLH HIHERTE | U BRM ; i (= S
IT/=| xS coD el > AE EXizER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) () (4 S/cm)
EH{E - - 0.9 0.02 - - 71
4A - - 1.3 0.05 - - 63
64 - - 0.8 <0.01 - - 72
8A - - 0.9 - - - 69
10A - - 0.8 <0.01 - - 72
12H - - 0.7 <0.01 - - 78
28 - - 0.9 — — — 74




ERRITEE

=& | i =)l
. T B4 I E =F=A11
(@B ) | B|E A
—iRIE R
X&_|&SECC)| KECC) [HFEBMAR| FR 18 BS
48] Bh 21.0 17.0 =B |oeEYEY me mR
6Al =Y 27.0 225 =IE BE ®me |mR
8Al Bh 33.0 29.9 == BE |meE |
108 =Y 22.0 23.0 =IE BE ®me mR
128 W 10.0 10.0 =IE BE ®me mR
28 55l 10.0 8.0 == BE i) |me
4 ERSEE 3
H DO BOD SS KEEHK
P (mg/D) | (mg/D) | (mg/H | (MPN/100m))
E&MB] 656~85] 75LLF | 20LLF | 25LLF 1000LLF
EHE (75%1E) - 9.9 1.0(1.3) 1 -
48] 76 10 1.2 2 -
68| 78 8.9 0.6 1 -
8A| 78 8.0 0.6 1 -
10A] 77 8.4 1.3 < -
128 77 12 1.4 < -
28 15 12 0.7 2 -
BEEE
NI INED S N ANEvALl WME fKER 7L ILKEE]
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEE] 001 LT | FE#RH | 001LLF [ 005LLF [ 0.01LLF [ 0.0005LLF ERH |
EH{E - - - - - - -
agl - - - - - - -
6A| - - - - - - -
8Al - - - - - - -
10A - - - - - - -
124 - - - - - - -
27 - - - - - - -
SZT=I=E] wee |1:2-2708[11-C50n[22-1,2-290(1,1,1-kJH0
PCB Pyl I 7 ity ey BTl LA
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
R E&E [002LLF ] 0.002LLF [0.004LLF] 0.02LLF | 0.04LLF 1LLF
BEZS - - - - - - -
agl - - - - - - -
6A| - - - - - - -
8Al - - - - - - -
10A] - - - - - - -
12A] - - - - - - -
28] - - - - - -
1,12-ry4 (FUYBA[FSYaRI[1,3-090A = S,opis FARUA
aaIsy | TFLY FLY oo~y F I3, Iy %
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#1E]0.006LF[0.03LLF | 0.01LLF [0.0028LF[0.006LLF | 0.003LLF | 0.02LLF
EEZS - - - - - - -
agl - - - - - - -
6A| - - - - - - -
8Al - - - - - - -
10A] - - - - - - -
12A] - - - - - - -
2A] - - - - - - -




Ryt | vy |HEEZRRT so% | B5%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EXEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—wm@ - [ - - - -
4H - - - - -
6H - - - - -
8H - - - - -
10A8 - - - - -
12H8 - - - - -
2R - - - - -
ZDHIRE
N— A~ N RILLT L
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
ERE - 0.16 0.012 - - - -
48[ - 0.27 0.008 - - - -
6B - 0.19 0.013 - - - -
8H - - - - - - -
108 - 0.11 0.015 - - - -
128 - 0.08 0.011 - - - -
2R - - - - - -
BiLH HAHERYE | UURR ; = i S
IT/=| kS cobD el > aE BREER
(mg/) | (mg/1) (mg/1) (mg/1) (mg/1) (BE) (U S/cm)
FiHiE - - 0.8 = - - -
4A[ - - 1.2 - - - -
;1 - 07 - - - -
;1 - 07 - - - -
10A] - - 038 - - - -
12A] - - 06 - - - -
28 - - 08 - - - -




174

5 %iiﬂ% )14 A=l
(H#ESH) | BB A
—{%IE B
X |[SfECc)| KEBCCc) [FEBUKE| FiR 48 B&
48] Bh 245 19.5 =E [voEYEY me mR
68 =l 26.0 21.0 == BE meE |
8A| Bh 34.0 28.5 == BE |meE |
108 =Y 24.0 23.0 =E BE me mE
128] B 11.0 10.0 =IE BE ®me mR
28 551 10.0 8.5 == BE i) |me
HERIBIEE _
oH DO BOD SS KEEHK
(mg/) (mg/) | (mg/) | (MPN/100mi)
EEE| 65~85] 75LLF | 20LF | 25LF 1000LLF
EHE (75%1E) - 9.9 0.9(1.2) 1 1500
48] 75 10 1.2 1 -
6A| 77 9.0 <05 <1 930
8A|l 78 8.3 <05 <1 -
10A] 76 8.3 1.2 <1 2000
128 77 12 0.9 <1 -
28 7.5 12 0.9 2 —
BEER
NI INED S R ANEvALl WME fKER 7L ILKEE]
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#E(E] 0.01LLF [ FEHEH 0.01LLF | 0.05LLF | 0.01LLF 0.0005LLF
B3] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8AH - - - - - - -
108]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
27 - - - - - - -
o004 iwe |1.2-070[1,1-S500 [ R-1,2-0450(1,1,1-k) 0
PCB gy | PRERR | nrgy | 'zziy | nrFlo AT4Y
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#E(E] FEHH (00281 F | 0.002LLF |0.004LLF [ 0.02LLF 0.04LLF 1LLE
TH{E - <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
48 - <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
6 H - <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
sA[ - - - - - - -
10H - <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
12H - <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
2R - - - - - - -
1,1,2-+y4 [RUYBAAFrS400x(1,3->50A — . —sen FARA
aazss | 3L | FLy  |mFasy| T7I7LA | YRDY )%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#E{E]0.006 L F|0.03LLF| 0.01LLF |0.002LLF [ 0.006 L F 0.003LLF 0.02LLF
SEHfE] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
48] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6A| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
sA[ - - - - - - -
10H] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
128 <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
27 - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
EH{E]  <0.001 <0.001 0.15 <0.1 <0.1
4H] <o0.001 <0.001 0.28 <0.1 <0.1
6A] <0.001 <0.001 0.11 <0.1 <0.1
8H - - - - -
10H] <0.001 <0.001 0.08 <0.1 <0.1
12H] <0.001 <0.001 0.11 <0.1 <0.1
2H - - - - -
EDHIEE
N SR | 28 @ | 2@E® | saofus | TLTY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEl - 0.22 0.013 <004 | <0005 - -
7y:] 0.31 0.006 <0.04 - - -
6A| - 0.26 0.014 <0.04 - - -
sA| - - - - <0.005 - -
108 - 0.18 0.023 <0.04 - - -
128 - 0.11 0.009 <0.04 - - -
2H - - - - - - -
BiLH BIHERTE | U BRM : = i S
IT/=| kS cob el > AE ESizEX
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (4 S/cm)
EH{E - - 0.8 0.02 - - 76
4R - - 1.3 0.05 - - 65
64 - - 0.7 <0.01 - - 78
8A - - 0.7 - - - 73
10A - - 0.7 <0.01 - - 717
12H - - 0.6 <0.01 - - 84
28 - - 0.9 — — — 79




ERRITEE

FO4 | A =3
2 % FFO04% )44 Balll
(HyR) | J® A
— g8 B
XE [&fBCc)| KEB(CC) | EIUKZE| KR =i BR
48] Bh 20.0 21.0 =B |oeEYEY me mR
6Al =Y 26.0 22.2 =IE BE ®me |mR
sA|l ®\Bhn 34.0 28.0 =E BE ) mE
108 =Y 22.0 25.0 =IE BE i) mR
128 & 11.0 10.0 =IE BE ®me mR
28 55 10.0 13.0 = E BE mE e
HERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
B&MB] 656~85] 75LLF | 20LLF | 25LLF 1000LLF
EHIE(75%1E) - 9.9 1.0(1.1) 2 -
48] 76 10 11 2 -
64 1.7 9.0 0.8 7 —
8A| 16 8.0 0.8 1 -
10| 76 8.4 1.3 <1 -
128l 77 12 1.1 1 -
28 75 12 0.9 2 -
RBEIER
N INESS & o) AfivnL]  #E ks |7xukeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
Bl 001LLTF [ FEHE/H | 001LLF | 00580 F | 0.018LF [ 0.0005LLF JEREH |
Ty - - - - - - -
4K - - - - - - -
68 - - - - - - -
8AH - - - - - - -
10A] - - - - - - -
12A] - - - - - - -
28 - - - - - - -
SZT=I=E] wee |1:2-2708[11-C50n[22-1,2-290(1,1,1-kJH0
PCB 5 bR A E 3 axs | TFLy A hTse
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
s E#RE [0.02LLF] 0.002LLF [0.004LLF | 0.02LLF 0.04LLF 1LF
iy - - - - - - -
4K - - - - - - -
6A - - - - - - -
8H - - - - - - -
10A] - - - - - - -
12A] - - - - - - -
28 - - - - - - -
1,1,2-+y4 [FUYBaAFr5400x(1,3->50A = S, o8 FARUAH
aaIsy | TFLY FLY oo~y F I3, Iy %
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
F#{E0.006 L F[0.03LLTF ] 001LLF [0.002LLF|0.006LLF [ 0.003LLF 0.02LLF
Ty - - - - - - -
4K - - - - - - -
6A - - - - - - -
8AH - - - - - - -
10A] - - - - - - -
12A] - - - - - - -
28 - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—wm@ - [ - - - =
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—A~FH RILLT IV
g EER e S 2HEE | JAOKRILL | TS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
THEl - 0.27 0.017 = = = =
4R - 0.31 0.011 - - - -
64 - 0.43 0.045 - - - -
8H - - - - - - -
108 - 020 <0003 - - - -
128 - 0.12 0.010 - - - -
2H - - - - - -
BiLH BIHERTE | U BRM : = i S
I/ LA coD =% > EE BREEXR
(mg/D) | (mg/1) (mg/1) (mg/1) (mg/1) (BF) (4 S/cm)
ToEl - = 1.4 = 0.02 - -
4R - - 1.3 - 0.01 -
64 - - 2.1 - 0.04 - -
8H - - 1.7 - - - -
10H - - 0.7 - <0.01 - -
12H - - 0.9 - <0.01 - -
2H - - 1.5 - - - -




